Compound Inequalities

- consist of two inequalities connected by the words "and" or "or"
- "and" problems: solution must work for both inequalities

- "or" problems: solution must work for one or the other inequality



Write an inequality and graph the solution.

1. All numbers that are greater than or quuaI to -2 @IESS than 3.
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Write an inequality and graph the solution.

2. All numbers that are less than or equal to -3 or greater than 0.
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Solve and graph.
3. -5<2x+3<7
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Solve and graph.
4. 6X-5<7 or 8x+1>25
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Solve and graph, then state if the x-value is a solution.
5. -1<7x-156<20; x=5
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